[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

g : g
] T =
8 5
2 £
< w0
Q c
E o
= 3
@
| R
o i i T o
AT
214 NI BT 214
5 25 0 E=56-15-10 =5 0 5 10 15 20 25
TP dxy PV) (cm) TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFitbasel__RECO

[N of sim] —— DQM_V0001_R000000001_Global_mkFitbase2_RECO

0 »
2 o
] =
£ 3
2 E
X %]
5} c
S Q
= o
o
9 : 2
T I T
o HHHHLHHHM o
Al NEREE (RN
"-1-0.8-0.604-02 0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
0 »
k] - a
] . =
e S 3
g E
EP 2
8 10%F- - Beees foeeeeeens eeee 5
= 9
o

0%30 -20 0 10 20 30 0% =20 -0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
° o
L =
510° B
2 !
S 3 2
< 10 S
= 3
[hq
10?
10F- - - £
1k -
o v . o
K |: 3 :
24 . [\ .
|:5: E R AL AR AERLE ({10 ARRREARERLRRT RN
0T 05 0 055

0.5 1 . 0 0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


